lo

2. GDP2} 1212 GDP2| x}0|

o GDP: =27t FH| ZH #2 o) 0|=2t =22 GDP 1, 2%
1015 GDP: 201 J{7HQIo| HRetS LIEtH of) EMEE3 A== 1015

3.GDP2| &

o 27t 2t EH 2 H[Q
- 20242 NIA| GDP =¢l: 191 0]=, 29 5=, 3¢ 5. 149 thetel=
o ZAM|MXE A AL

ol]) ZR|MEHE 5%(XHA GDP 2X 2 — 23l GDP 21X 9 A Q)

4. GDP A|At 2]

- GDP = AH| + EX}+ 25 =49
-l 2eEO NBSIE £
-} 7|9, Mol M| U 2N Sxp

= si9|2 271 T

ol:selof M 221 7ol

f2|L2t GDP MY

* 20259 4&E:2.0~2.3% 01|M

- SN ZH HE N sE R

- 8 ZH g Ui 2, I'_E.‘EI =22 37| ==t

- o2 Yok B FZ N, B ZA, AH S EXEYet S
6. 28

* GDP= 8| 232l 52 21it=

« D= ZH 2S0| GDPOf| 7|04: &H|, S5, 010|C|0] S0| =7+ ZH| HE2 i




